EARAROBREBRT —5 XN—ZXBISH—F

20224688228 (B) SEIEER2H

LW C2 SRR BRI
[AXE%) 1 %&:300,00 M ~ 2%&:105000H  33#%:60,00M ~ 43%&:30,000H ~ 53&:15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
v — KHE :00. - . - TER= (BEE)
117 7| E=E—75v7 it 4 xa 1(@)9 3-3 37.0 2 42))8 /N%%ic
RiALYITSvIEIL BAvYTNIRIILT7— ARNTIT 7 —L
= — 8 6 | BIRKE 1:01.3 =1 37.7| - 8 446 | FEEIIR (KR)
2fY 4| TATATU—R 54.0 212 4 | AR
R:OYAZYr—R B:FU—RITSTUR 75 Riis
EEES it 6 | BAS 1:01.5 2-2 7.8 - 4 | 467 | FES= (M)
3 6| P—3¥H 54.0 a 1/4) L PV
Rk orO0-U— #B:vI/YVFUS [REBUS
— ~ ) =_ 48 | AWz 1:01.5 8-6 3.2 — 3 441 | EREHBLE (BEMD)
4|55 | I-IFV= 54.0 N\F) (12 | EEKSE
R:F15VFIN F:A—=—2—Y #HET7—L
EPr— y B4 | IS 1:01.5 5-5 36.6| — 6 | 461 |BEESZ (KR
501017347 AKS =T 56.0 @e) “7) 1Y9-71-2 (@)
Ri/ITTURN BEFZZIA) (B) He1-RU—yavaEI7
. AR :01. - . = EER" ()
o2 oL =7 D [e1ES M YO e
R:NRMOD #:FHAF— LS
—~ _= st 7 | BAETE 1:01.6 7-7 3%6.4| — 7 | 463 |FREARD (KR
7/8 8| P¥=2t/—F A51.0 F5%) ) | LHAET
R:IAYVITSwvya BVYNZUFPANUT SRS
S— s LLIZAEES : - - =H=E (KKR)
8 3| 74—2175vvzx it 6 L 1.(072).8 5-8 38.0 5 ig? ﬁggw 7
RiJ4 I D—LEY B:ESI-FT475 vy RI7—L4
@ 11— —BBIEfI
13—7+—
20—7F—
30—7— 4,6,7,2,(1,3),8,5
43—F— 4,6,7,2,1,5,8,3
o ILRE
B B 7 370 | [ D1 R 4-7 1,290M4 B E 4-7 5,190 3EE 4-6-7 8,640
7B B 7 170 6-7 5004 =51 7-4 8,940 3EH 7-4-6 50,570/
4 340 4-6 2,180H
6 230

ABIC OV TRUTEREERRODDZE. THRIIZEL.




